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[ # /] There are other fish in the sea.
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[# 2] There are plenty more fish in sea.
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1. There are other (good) fish in the sea.
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[#g 02 ¢ ) There are plenty more fish in the sea.
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2. All is fish that comes to my net.
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3. There are plenty more fish in the sea.
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4.  Venture a small fish to catch a great one.
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5. A bird in hand is worth two in the bush.
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6. A little bird wants but a little nest.
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7. He who follows two hares is sure to catch neither.
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8. Kill two birds with one stone.

[(F#) - 77 5 -

() - @M - a9

[ 5% %33]) sk e

(%5 ¥ ]stone: #8 ; % (#3#) o "Leave no stone unturned. ; %% "4 % 544w
Wi RLEATFAE AR e |

[3p % 2] 7 %




